Munsell (Renotation)Chroma C = 2 and ValueV =1, 5, and9

in chroma diagram (x*,(F,M), y* (F,M)) %56=1.0,Y,5=1.0
Y5 (FM) = cy [Y,(F)~(M)] = ¢y ¥, (FM) X=0.11,B:=1.0,c,=0,01Y 0-34
*=[0,9093-0,01385+0,33380,)/ Xp = X0 (X=Xc)
[2.3587-0,4268,+0,2754,] V2= YooY
y=1/[2,3587-0,4268,+0,2754,] $ 0 X% = &y Xpg (X-X)

¥2= S Ya0¥
X%(F,M) = cy X, (F,.M)
=Cy [xa(F)=x(M)]
V X5(FM) y5(F M)
0

1 00 0.
2 00 00

3 00 00

4 00 00

5 00 00

- 6 00 00

X = 0,313 700 0.0
- 8 0.0 0.0
= 0.324 9 00 0.0
M 00 00

Y =25.30

Eaea




